
Practice     Test     16  

Practice     Test     16  : Choose the answer that is grammatically correct in the context of the sentence. There 
is only one correct answer.

1. Mark works ______ than his twin brother.
a. the least
b. less
c. little
d. a little

2. If you leave a high-energy dog alone for long periods of time during the day, it _______ into trouble. 
a. got
b. ’ll get
c. getting
d. ’s got

3. Mary would be angry, if her husband _______ out every night.
a. ’ll go
b. ’d go
c. gone
d. went

4. Does James usually ______ up early every day?
a. getting 
b. going to get
c. get 
d. gets 

5. Linda: “Why don’t you take dancing lessons?” Linda asked me why ________ dancing lessons.
a. don’t I take
b. didn’t I take
c. I didn’t take
d. I haven’t taken

6. ______ student who is late will not be allowed to take the exam.
a. All
b. None
c. Any
d. A large number of

7. Bob used ________ for IBM, but now he has his own business.
a. to work
b. to working
c. worked
d. work

8. My nephew ________ from Princeton University last year, but two years ago.
a. didn’t graduate
b. hasn’t graduated
c. doesn’t graduate
d. isn’t graduating

9. This morning I found both headlights of my car smashed. Someone ________ them deliberately.
a. had been breaking
b. was breaking
c. had broken
d. broken
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10. In my opinion, baseball is _______ a typically American game.
a. considered
b. been considered
c. consider
d. considering

11. Who, do you think, should ______ nominated president of the Student Council?
a. been
b. be
c. being
d. Nessuna risposta

12. I hurt _____ while I was playing tennis yesterday.
a. me
b. my
c. myself
d. mine

13. Drivers _______ pass a red traffic light or they’ll get a fine.
a. aren’t allowed
b. mustn’t
c. don’t need
d. don’t have to 

14. With the proper training, most dogs _______ surely learn to obey commands.
a. are able
b. ought
c. can
d. need

15. Lynn uses the computer at the university to send all her e-mails. She _______ have a computer.
a. must
b. don’t
c. ought 
d. may not
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